

Interpersonal and Social Rhythm Therapy (IPSRT) on Depression and Emotional Instability in Patients with Bipolar Disorder Type 1 treated with Medication

Article Type: Research Article

Hanieh Shahmohammadi
Department of Psychology and
Educational Sciences, Khatam
University, Tehran, Iran.

Mandana Niknam, PhD*
Department of psychology and
Humanities, Faculty of humanities,
Khatam University, Tehran, Iran
m.niknam@khatam.ac.ir

Received: 19/ 10/ 2022 Revised: 13/5/ 2023 Accepted: 19/ 6/ 2023
Dor: 20.1001.1.20081251.2021.15.2.3.4

Bipolar disorder is a chronic and relapsing disorder for which various interventions have been introduced. Interpersonal and Social Rhythm Therapy (IPSRT) was developed to treat patients' stressful events, improve social and circadian rhythm disturbances, and increase treatment adherence. This quasi-experimental study, with pre-test, post-test, follow-up, and control group, aimed to investigate the effectiveness of IPSRT on depression and emotional instability in patients with bipolar disorder Type 1 treated with medication.

The statistical population included all male patients with bipolar disorder, type 1, who were referred to Azadi Rehabilitation and Treatment Center in Tehran during 2020-21. Using a convenience sampling method, participants were randomly assigned to an experimental group (n=12) and a control group (n=12). The experimental group received IPSRT in twelve 90-minute sessions, whereas the control group was on the waiting list. We used the Hamilton Depression Rating Scale (HAM-D) and the Difficulties in Emotion Regulation Scale (DERS; Gratz & Roemer, 2004) and analyzed data using SPSS-27 software with the Mann-Whitney U test. The findings revealed a significant difference between the experimental and control groups in terms of depression and emotional instability in the pre-test, post-test, and follow-up. IPSRT had a positive effect on reducing depression and emotional

instability ($p < .05$). The results of this study showed the efficacy of IPSRT on depression and emotional instability in patients with bipolar type 1. Thus, this method can be used as an interventional and therapeutic method to reduce depression and emotional instability in bipolar type 1 patients.

Keywords: IPSRT, depression, emotion instability, bipolar disorder type 1

Bipolar disorder is a severe mental illness that burdens patients, their families, and society (Aydın, Ozdoğan, Ustundag, Ceyhun, & Esin, 2021; Nooripour et al., 2016). It is characterized by mood swings that range from acute euphoria to severe depression and causes disturbances in energy levels and performance as well as impairments in social interactions (Rantala et al., 2021). Mania is characterized by a high, open, or irritable mood (Guzman-Parra et al., 2021). Bipolar disorder (type 1) was diagnosed when patients experienced depressive and manic episodes and mania or when they experienced manic episodes only.

Bipolar disorder has been biologically associated with emotional instability, and bipolar disorder sufferers experience emotional instability characterized by irritability, agitation, aggression, changeability and impulsivity (Lee et al., 2022). Psychiatric disorders of emotion regulation contribute significantly to the pathology of bipolar disorder and can lead to poor outcomes or progression (Parker et al., 2021).

Depression is another sign of bipolar disorder. The symptoms of depression range from mild frustration to severe despair and are characterized by a change in mood. Bipolar disorder affects 20% of patients with clinical signs of depression (Mohammadyfar, Azizpour, Najafi, & Nooripour, 2018; Xiong et al., 2021).

Even though the first line of treatment for mania and depression is often a weak medication, relapse rates are high, and full recovery is not always possible. Accordingly, psychosocial therapies are effective at strengthening treatment adherence, identifying early warning signs, improving self-management skills, and communicating with family members. The inclusion of these elements in treatment plans may be able to reduce relapse rates in patients undergoing treatment. Therefore, pharmacological and psychosocial interventions must be incorporated into routine clinical care for treating patients with bipolar disorder (Arnbjerg et al., 2022). Interpersonal and Social Rhythm Therapy (IPSRT) is an individual adjunctive therapy that can be used with pharmacological interventions in patients with bipolar disorder (Frank, Swartz, & Kupfer, 2000). This treatment relies primarily on biological mechanisms (Bouwkamp et al., 2013).

The psychological framework for social rhythm therapies (SRTs) is usually provided by combining them with other theoretical therapies (Haynes, Gengler, & Kelly, 2016). It consists of a combination of SRT and interpersonal psychotherapy (IPT) (Swartz et al., 2011). Interpersonal SRT was designed to reduce stress in patients, improve social and circadian rhythm disturbances, and increase adherence to treatment (Hlastala, Kotler, McClellan, & McCauley, 2010).

With SRT, people with fluctuating moods are encouraged to maintain a relatively active and consistent daily schedule. IPSRT is a 12-session treatment that improves lifestyle, mood, and sleep quality by reducing associated disorders (Douglas et al., 2022). IPSRT evolved from the chronological model of bipolar disorder, in which people with bipolar disorder are genetically predisposed to disturbances of sleep-wake rhythms and circadian rhythms that may contribute to their symptoms. It has been combined with

medication as an essential component of interpersonal psychotherapy with behavioral techniques to help patients organize their daily routines, reduce interpersonal conflicts, and comply with medication regimens (Bonfils & Novick, 2021).

Several studies have investigated the effects of IPSRT on patients with bipolar disorder (Frank, 2007; Frank et al., 1997; Goldstein et al., 2014; Lam & Chung, 2021). Researchers found that IPSRT treatment improved mania symptoms in 44 bipolar disorder patients compared to those who received medication only. By helping patients maintaining a regular sleeping, waking, eating, and exercising rhythm, IPSRT can improve quality of life, mood, and interpersonal relationships, and bipolar disorder patients may benefit from it (Frank et al., 2005). In addition, studies have shown that IPSRT is effective in adults with bipolar disorder as well as patients with schizophrenia and depression (Frank et al., 2008).

Researchers have demonstrated that IPSRT can improve disease acceptance, increase treatment adherence, improve healthy coping with life events, and restore and monitor a stable circadian rhythm (Bouwkamp et al., 2013; Frank et al., 2005; Sankar et al., 2021). Given the above-mentioned conditions, that emotional disturbances and depression as symptoms of bipolar disorder cause many concerns, and that medication therapy alone is associated with the possibility of disease recurrence, IPSRT focuses on solving interpersonal problems and maintaining a regular daily rhythm of sleeping, waking, eating and exercising and may improve quality of life and reduce mood symptoms in bipolar patients. Because of the lack of research in the application of this treatment for bipolar disorders in Iran, the present study examines the hypothesis that IPSRT alleviates depression and emotional instability in bipolar disorder type 1.

Method

A quasi-experimental design was used in this study, which included a pre-test, post-test, and follow-up with the control group. All bipolar disorder type 1 men who referred to Azadi Rehabilitation and Treatment Center in Tehran city in 2020-21 were included in the statistical population of this study. In the sample group, 24 men with bipolar disorder type 1 were randomly selected based on the inclusion criteria and randomly divided into experimental (n=12) and control groups (n=12). With the cooperation of the management of the center, the list of referrals suffering from bipolar disorder was provided to the researcher. From that list, 30 people were initially selected with consideration given the prediction of dropout due to the corona pandemic conditions and based on the criteria of the research. They were randomly divided into an experimental (15 people) and a control (15 people) group. It should be noted that out of 30 participants, 24 people remained until the end of the implementation (12 people in the experimental group and 12 people in the control group), and their information was used in the pre-test and post-test stages to generalize the findings to the statistical population.

Instrument

Inclusion criteria: Diagnosis of type 1 bipolar disorder by three methods: **A)** diagnosis by a psychiatrist, **B)** examination with the Comprehensive International Diagnostic Interview (CIDI), and **C)** assessment of DSM5 criteria by a clinical psychologist; adequate literacy (schooling and above); aged 20-50 years; relatively regular usage of medication; no history of brain or head injury; no organ dysfunction; and the willingness to take part in IPSRT.

Exclusion Criteria: Substance abuse problems (other than nicotine and caffeine), severe psychiatric disorders (such as schizoaffective disorder), recurrence of acute symptoms of psychotic illness (including hallucinations, delusions, and psychosis), absence from more than two training sessions, and failure to complete homework assignments related to training comprised the exclusion criteria of this study.

Hamilton Depression Scale (HAM-D)

The HAM-D was developed by Hamilton in 1960 and improved in later years. This scale was one of the first developed for the assessment of depression. The original HAM-D comprised 21 items. It is essential to note that the last four (daily changes, paranoia symptoms, depersonalization and obsessive-compulsive symptoms) should not be included in the total score, because these symptoms are unusual and reflective. No indication of the severity of depression is found on these items (Richter et al., 1998). Each proposition can be scored from zero to four or zero to two, and the total score is 0 to 76 (Timmerby et al., 2017). Cut-off scores acceptable to therapists on this scale range from 0 to 6 (does not indicate depression), 7 to 17 (mild depression), 18 to 24 (moderate depression), and 25 and above (severe depression) (Hamilton, 1960). The estimate is based on a clinical interview with the patient. The patient's response to questions about guilt, suicide, sleep behavior, and other depressive symptoms is clinically significant (Bech, Allerup, Larsen, Csillag & Licht, 2014). The sensitivity in diagnosing positive cases of depression is 87%, and the highest sensitivity and specificity of the HAM-D were found in several studies to be at clinical cut-off point 17, where the sensitivity was 62.4% and specificity 92% (Timmerby

et al., 2017). The correlation coefficient between the Beck Depression Scores and the HAM-D in an Iranian sample was 0.66 (Kheirabadi, Maracy, Akbaripour, & Masaeli, 2012). According to Cronbach's alpha, the questionnaire has a high level of reliability, which is 0.69.

Difficulties in Emotion Regulation Scale (DERS)

The Primary Emotion Regulation Difficulty Scale is a self-report instrument developed to assess clinical difficulties in emotion regulation (Gratz & Roemer, 2004). It is also a standard with 36 questions answered on a Likert scale (1 to 5). Higher scores show more difficulties in emotion regulation. This questionnaire includes six components or dimensions: the rejection of emotional responses, difficulty performing goal-directed behaviors, difficulty controlling impulses, lack of emotional awareness, limited access to emotional regulation strategies, and lack of emotional clarity. A score of six on the test scale calculates an individual's total emotional regulation difficulty score. A higher score on each of the subscales and the whole scale shows more unexpected emotional regulation problems. The results show that this scale has a high internal consistency of .93. All six emotion regulation difficulty subscales have a Cronbach's alpha greater than .80. The emotion regulation difficulty scale correlates significantly with the generalized Negative Emotion Regulation (NMR) scale and the acceptance and action questionnaire (Hayes et al., 2004). The psychometric properties of the Persian version of the Emotion Regulation Difficulty Scale were examined and confirmed in clinical (n=187) and nonclinical (n=763) samples; Cronbach's alpha coefficients ranged from .73 to .88 for the negative emotion rejection questions, from .72 to .89 for difficulty in goal-directed behaviors, and from .75 to .90 for difficulty controlling impulsive

behaviors; Also, For the limited achievement of effective emotion regulation strategies from .76 to .85, for lack of emotional awareness from .72 to .86, for lack of emotional clarity from .77 to .90, and a total scale score from .79 to .92 was obtained (Mazaheri, 2015). Using Cronbach's alpha, the reliability of the questionnaire was .71 to .89, indicating good reliability.

Procedure

The study had two stages: preliminary and main examinations. The introductory phase aimed to gain skills in Interpersonal and Social Rhythm Therapy (IPSRT), establish treatment protocols, prepare research instruments and check their validity and reliability. In the primary research phase, the points mentioned comprise getting approval from the rehabilitation center, choosing the sample group based on research criteria, conducting a pre-test meeting to discuss the objectives, manner, and timing of the sessions, and conducting a pre-test for data collection. Next, we conducted IPSRT sessions for the experimental group and the post-test for the control group.

It is important to note that after the pre-test (completion of the research questionnaires) for the experimental and control groups, the protocol of IPSRT (Frank et al., 1997) was performed in twelve 90-minute sessions over 12 weeks during May-July 2021 at Azadi Rehabilitation and Treatment Center in Tehran. During this period, the control group received no psychological treatment. Both experimental and control groups completed questionnaires after the intervention. For data analysis, the Mann-Whitney U test was performed using SPSS-27 and Excel statistical software, depending on the study's design (pre-test, post-test, and control group). All information about the disease and the questionnaires was kept confidential. To comply with

ethical considerations, participants provided written informed consent to participate in the study. A meeting was also held for the control group.

IPSRT sessions are summarized in the following Table.

Table 1
IPSRT Protocol

Meeting number	Content of the meeting	Objectives	Homework
1		Facilitate initial communication with participants	
2		Scientific awareness of the disease	
3		Awareness of interpersonal balance and meaningful patient relationships	
4	Discussion of problem areas in interpersonal psychotherapy, including role conflict, role transition, interpersonal deficits, grief. Presentation of the patient's role and examination of limitations because of illness	Separate writing of problem areas in interpersonal relationships	
5	Definition of IPSRT Learning to regulate body's biological rhythms and do your homework. (Adjusting sleep-wake rhythm, playing sports, professional sports activities, communicating with another person, starting daily activities, rating mood and energy from -5 to +5)	Training in IPSRT	24-hour schedule
6	Advanced training in IPSRT Cognition and self-perception of positive and negative emotions The relationship between emotions and the	Sensitization of positive and negative emotions	24-hour schedule

	instability of the patient's mood IPSRT The direct relationship between circadian and social rhythms and patient mood and arousal		
7	Training to improve interpersonal-social relations. (Skills to resolve conflicts by identifying the dispute). Identifying expectations and feelings of parties and identifying existing solutions	Enhancing interpersonal relationships and conflict resolution	24-hour schedule Determine the nature of the dispute
8	Review and exchange of opinions among group members about task set. (Determination of nature of the disputes)	Doing the right thing	24-hour schedule
9	Identifying causes of interpersonal conflicts (IPT approach)	Awareness of causes of interpersonal conflicts	24-hour schedule
10	Investigation of solutions for interpersonal conflict resolution	Awareness of solutions for conflict resolution	24-hour schedule Resolve interpersonal conflict
11	Evaluate strategies to promote interpersonal relationships and regulate the body's circadian cycle to reduce depression and emotional instability in patients	Evaluating strategies	24-hour schedule
12	Review and summarize past meetings and solicit feedback.	Conclusions	

Results

Two types of statistical analysis are presented in this section: descriptive and inferential. Each group in the current study had 12 participants. Because of the small sample size, which was unsuitable for parametric covariance analysis, the Mann–Whitney U test was used to assess the effectiveness of the intervention.

Using the Mann–Whitney U test, the difference between post-test and pre-test scores was calculated to determine the effectiveness of the intervention. Furthermore, the differences in scores between the follow-up and pre-test stages were calculated to assess the durability of the effect, and the obtained score was compared with the Mann-Whitney U test. The data was analyzed using SPSS 27. Depression and emotional instability are described in Table 2. Means and standard deviations were used to define the variables.

Table 2
Average and Standard Deviation of Depression and Emotional Instability Variables by Time and Group

Variables	time	IPSRT		Control group	
		M	SD	M	SD
Depression	Pretest	23.50	5.25	21.83	4.17
	Posttest	12.42	5.96	21.08	4.34
	Follow-up	12.50	5.50	21.33	3.03
emotional instability	Pretest	130.83	17.23	120.67	15.26
	Posttest	94.67	18.22	122.17	14.45
	Follow-up	95.08	17.64	122.92	12.67

The results showed that the average level of depression in the control group reached 21.83 in the pre-test, dropped to 21.08 in the post-test, and then decreased to .75. The average depression in the rhythm therapy group went from 23.50 in the pre-test to 12.42 in the post-test, demonstrating a decrease of 11.08 points, which was much higher than the changes in depression in the control group. The average emotional instability in the control group went from 120.67 to 122.17 and increased by 1.50 points, and in the experimental group, the average went from 130.83 to 94.67 and showed a decrease of 36.16 points. Table 3 presents the

results of the Mann–Whitney U test to compare the differences between the post-test and pre-test scores in the groups.

Table 3
Results of the Mann–Whitney U Test to Compare the Difference between Post-Test and Pre-Test Scores in two Groups (Intervention Effectiveness)

Variables	Mean Difference		Mean Rank		Z	P
	M	SD	Control	Experimental		
depression	5.92	5.82	18.50	6.50	3.92	.001
emotional instability	17.33	20.48	19.32	5.79	4.08	.001

According to Table 3, the intervention was effective in treating depression and emotional instability ($p < .05$). There was a difference of 5.92 on the depression scale and one of 17.33 on the emotional instability scale. The difference between the post-test and pre-test in the experimental group is significantly more noteworthy than that in the control group, thus confirming the effectiveness of the intervention. Mann-Whitney U tests were used to determine whether the rhythm therapy intervention was durable by comparing the follow-up time score to the pre-test.

Table 4
Results of Mann–Whitney U test to Compare the Difference Between Follow-Up and Pre-Test Scores in the Two Groups (Permanence of the Effect)

Variables	Mean Difference		Mean Rank		Z	P
	M	SD	Control	Experimental		
Depression	5.75	6.08	18.42	6.58	3.88	.001

Emotional instability	16.75	20.95	19.07	5.92	3.95	.001
--------------------------	-------	-------	-------	------	------	------

There was a statistically significant difference between the follow-up and pre-test scores between the two groups ($p < .05$). Because depression and emotional instability levels differed significantly between the pre-test and follow-up, we can confirm the permanence of the effect of IPSRT intervention.

Discussion

The current study aimed to investigate the effectiveness of IPSRT on depression and emotional instability in patients with bipolar disorder type 1 under treatment with medication. The results showed that IPSRT could lead to a significant reduction in depression in patients with bipolar disorder type 1 treated with medication, which is consistent with other studies (Douglas et al., 2022; Frank et al., 2008; Lam & Chung, 2021; Sankar et al., 2021). This research was not found to have the opposite result based on the research literature.

Social rhythm therapy and interpersonal therapy are two parts of IPSRT. Interpersonal problems and social rhythms are interrelated in the IPT and SRT treatment sections. As a result of interpersonal therapy, mood problems are reduced, and interpersonal and social relationships are improved.

A variety of factors, including the close relationship between improvements in circadian rhythms and symptoms in patients with bipolar disorder, can explain the positive effects of the intervention. We consider sleep disturbances to be a trigger for depression and mania. As part of IPSRT, energy levels are monitored daily in order to improve daily schedules to deal with sleep disturbances. Studies (Lieverse, de Vries, Hoogendoorn, Smit, & Hoogendijk, 2013; Spector et al., 2006) have shown that

regulating sleep-wake rhythms reduces depression in patients with mood disorders.

Thus, IPSRT helps to reduce depression and regulate mood by regulating daily activities and cycles and rhythms such as sleeping and waking, and reducing interpersonal disputes and inadequacies (Goldstein et al., 2014). IPSRT has the dual goal of regulating mood and improving performance in interpersonal relationships, which can reduce symptoms of depression (Goldstein et al., 2018). Another explanation is that selecting a common problem area is essential to interpersonal therapy. For example, losing a healthy self is a common problem for the entire group. Frank et al. (2000) noted that patients with bipolar disorder often grieve for someone who has had the illness or for becoming someone who would not have had bipolar disorder. This is considered grieving for the lost self in IPSRT, and grief-related interpersonal treatment techniques are used to assist the patient. In bipolar treatment, the therapist encourages the patient to express painful feelings about lost hopes, broken relationships, lost employment, and missed opportunities. This may contribute to reducing depression in patients with bipolar disorder.

It is also possible that the intervention improved patients' adherence to treatment and their intake rhythm, which may account for the improved psychiatric symptoms. For example, patients were regularly informed about the potential side effects of medications, and their concerns about medications and side effects during the treatment period were periodically addressed; it could also reduce depression by encouraging patients to continue taking medications.

Results also showed that IPSRT significantly reduced participants' emotional instability. This finding is consistent with the results of other research (Bonfils & Novick, 2021; Bonfils &

Novick, 2021; Bouwkamp et al., 2013; Douglas et al., 2022; Frank et al., 2008; Lam & Chung, 2021; Sankar et al., 2021). In the review of the background of the research, there was no findings relating to the opposite result of the current research. Several factors can explain the positive effect of the intervention on emotional instability, including the theory of Frank et al. (2008). According to their theory (Frank, 2007), the brain's biological time is regularly regulated by specific processes such as sunrise and sunset, lunch and dinner, and coming home in the evening after work; these control our biological time. Some factors disrupt the brain's schedule, such as flying in an airplane, various daily work schedules or light deprivation. "When our brain's schedule is disrupted, we get mood swings," (Zacks, Speer, Swallow, Braver, & Reynolds, 2007).

Therefore, in the present study, patients were educated about the body's circadian cycle and the factors that disrupt the order of this cycle, such as the disruption of times for sleep and wakefulness, lunch and dinner, work and activity, as well as how the brain cycle regulates emotions. Participants were encouraged to establish a specific time for going to bed and waking up. They were advised to set aside a particular time for lunch, dinner, and taking medications and to engage in particular activities throughout the day. Walker & van der Helm (2009) hypothesized that sleep disturbances are a biologically-related component to mood disorders and that disruptions in the sleep-wake cycle affect mood and emotion regulation.

Another focus of IPSRT is interpersonal conflict, in which people with bipolar disorder are more likely to engage. Bipolar symptoms may contribute to interpersonal differences, or interpersonal differences may overstimulate patients, which may exacerbate mood problems and emotional instability (Frank, Swartz, & Boland, 2007; Kahawage et al., 2022). This

intervention helps reduce emotional instability by assisting patients in resolving their interpersonal issues and improving their emotional disturbance. Thus, IPSRT helps maintain mood indirectly by improving and expanding social relationships and networks and providing more social support to help improve mood and reduce mood swings (Lieverse et al., 2013).

Each day, participants in social rhythm therapy were asked to complete a round-the-clock (SRM) schedule (Frank et al., 2007). Time to wake up, meet the first person, perform a specific activity or task, eat dinner, go to bed and rate mood and energy from +1 to -1 are the headings on the chart. The homework from the previous week was discussed, behaviors and events disrupting social rhythms and moods were identified, and practical advice was given on how to complete the form and improve social rhythm stability.

In addition to medication, resolving interpersonal problems and maintaining a regular routine of sleep, waking, eating, and exercising can improve quality of life, reduce mood problems, and prevent disorder recurrence (Frank et al., 2005). This study found that improving interpersonal inadequacies and regulating disrupted circadian rhythms could explain mood stability and reduce emotional problems in bipolar individuals.

Because fluctuations in mood and in the tendency of respondents to give pessimistic and/or optimistic answers can occur, it is not possible to collect information based on self-report using a questionnaire, the effects of environmental factors, the frequent and different emotions of patients, the difficulty of changing the personality structure of patients, or the lack of control.

Homework was a limitation of the present study. In addition, the prevalence of coronary artery disease at the end of

interventions limited the possibility of evaluating the persistence of the results in a follow-up study. This intervention method should be used and compared in future research for different types of bipolar disorders (types 1, 2, and rapid cycling). It is recommended that IPSRT be used to treat mood problems and emotional dysfunction in women as well as other mental illnesses, such as substance abuse and schizophrenia. Many disorders are related to mood disorders, such as bipolar disorder, impulsive behavior, and risky behavior.

Approval Ethical Considerations

This study was part of the first author's master's thesis. The Khatam University Research Ethics Committee approved the original study. The present study was designed based on the principles set in the Declaration of Helsinki (World Medical Association, 2001) and was accepted by the Ethics Committee of our University. After receiving information about the study's aims, all participants provided written consent to participate. The researchers first explained the purpose of the survey to the participants, and then assured them that the investigation would be kept confidential. Participants were free to withdraw from the study without giving a reason to maintain the element of voluntariness. There was no need to write a name, and participation in the research was completely voluntary.

Acknowledgments

The authors would like to express their appreciation for the collaboration of all participants in the present study.

References

- Arnbjerg, C. J., Rurangwa, N. U., Musoni-Rwililiza, E., Gishoma, D., Carlsson, J., & Kallestrup, P. (2022).

- Intervention trials for adults with bipolar disorder in low-income and lower-middle-income countries: A systematic review. *Journal of Affective Disorders*, 311, 256–266. doi: 10.1016/j.jad.2022.05.097
- Aydın, E., Ozdogan, M., Ustundag, M., Ceyhun, H., & Esin, I. (2021). Functioning, dysfunctional attitudes and neurocognitive functions in euthymic patients with bipolar disorder type 1. *Psychiatry and Behavioral Sciences*, 11(3), 157. doi: 10.5455/PBS.20210214012334
- Bech, P., Allerup, P., Larsen, E. R., Csillag, C., & Licht, R. W. (2014). The Hamilton Depression Scale (HAM-D) and the Montgomery–Åsberg Depression Scale (MADRS). A psychometric re-analysis of the European Genome-Based Therapeutic Drugs for Depression Study using Rasch analysis. *Psychiatry Research*, 217(3), 226–232. doi: 10.1016/j.psychres.2014.03.024
- Bonfils, K. A., & Novick, D. M. (2021). Application of Interpersonal and Social Rhythm Therapy (IPSRT) for Depression Associated With Schizophrenia Spectrum Disorders. *American Journal of Psychotherapy*, 74(3), 127–134. doi: 10.1176/appi.psychotherapy.20200024
- Bouwkamp, C. G., de Kruiff, M. E., van Troost, T. M., Snippe, D., Blom, M. J., de Winter, R. F. P., & Judith Haffmans, P. M. (2013). Interpersonal and Social Rhythm Group Therapy for Patients with Bipolar Disorder. *International Journal of Group Psychotherapy*, 63(1), 97–115. doi: 10.1521/ijgp.2013.63.1.97
- Douglas, K. M., Inder, M. L., Crowe, M. T., Jordan, J., Carlye, D., Lacey, C., ... Porter, R. J. (2022). Randomised controlled trial of Interpersonal and Social Rhythm Therapy and group-based Cognitive Remediation versus Interpersonal and Social

- Rhythm Therapy alone for mood disorders: Study protocol. *BMC Psychiatry*, 22(1), 115. doi: 10.1186/s12888-022-03747-z
- Frank, E. (2007). Interpersonal and social rhythm therapy: A means of improving depression and preventing relapse in bipolar disorder. *Journal of Clinical Psychology*, 63(5), 463–473. doi: 10.1002/jclp.20371
- Frank, E., Hlastala, S., Ritenour, A., Houck, P., Xin Ming Tu, Monk, T. H., ... & Kupfer, D. J. (1997). Inducing lifestyle regularity in recovering bipolar disorder patients: Results from the maintenance therapies in bipolar disorder protocol. *Biological Psychiatry*, 41(12), 1165–1173. doi: 10.1016/S0006-3223(96)00241-7
- Frank, E., Kupfer, D. J., Thase, M. E., Mallinger, A. G., Swartz, H. A., Fagiolini, A. M., ... & Monk, T. (2005). Two-Year Outcomes for Interpersonal and Social Rhythm Therapy in Individuals With Bipolar I Disorder. *Archives of General Psychiatry*, 62(9), 996. doi: 10.1001/archpsyc.62.9.996
- Frank, E., Soreca, I., Swartz, H. A., Fagiolini, A. M., Mallinger, A. G., Thase, M. E., ... Kupfer, D. J. (2008). The Role of Interpersonal and Social Rhythm Therapy in Improving Occupational Functioning in Patients with Bipolar I Disorder. *American Journal of Psychiatry*, 165(12), 1559–1565. doi: 10.1176/appi.ajp.2008.07121953
- Frank, E., Swartz, H. A., & Boland, E. (2007). Interpersonal and social rhythm therapy: An intervention addressing rhythm dysregulation in bipolar disorder. *Dialogues in Clinical Neuroscience*, 9(3), 325–332. doi: 10.31887/DCNS.2007.9.3/efrank
- Frank, E., Swartz, H. A., & Kupfer, D. J. (2000). Interpersonal and social rhythm therapy: Managing the chaos of bipolar

- disorder. *Biological Psychiatry*, 48(6), 593–604. doi: 10.1016/S0006-3223(00)00969-0
- Goldstein, T. R., Fersch-Podrat, R., Axelson, D. A., Gilbert, A., Hlastala, S. A., Birmaher, B., & Frank, E. (2014). Early intervention for adolescents at high risk for the development of bipolar disorder: Pilot study of Interpersonal and Social Rhythm Therapy (IPSRT). *Psychotherapy*, 51(1), 180–189. doi: 10.1037/a0034396
- Goldstein, T. R., Merranko, J., Krantz, M., Garcia, M., Franzen, P., Levenson, J., ... Frank, E. (2018). Early intervention for adolescents at-risk for bipolar disorder: A pilot randomized trial of Interpersonal and Social Rhythm Therapy (IPSRT). *Journal of Affective Disorders*, 235, 348–356. doi: 10.1016/j.jad.2018.04.049
- Gratz, K. L., & Roemer, L. (2004). Multidimensional Assessment of Emotion Regulation and Dysregulation: Development, Factor Structure, and Initial Validation of the Difficulties in Emotion Regulation Scale. *Journal of Psychopathology and Behavioral Assessment*, 26(1), 41–54. doi: 10.1023/B:JOBA.0000007455.08539.94
- Guzman-Parra, J., Streit, F., Forstner, A. J., Strohmaier, J., González, M. J., Gil Flores, S., ... Rietschel, M. (2021). Clinical and genetic differences between bipolar disorder type 1 and 2 in multiplex families. *Translational Psychiatry*, 11(1), 31. doi: 10.1038/s41398-020-01146-0
- Hamilton, M. (1960). A Rating Scale For Depression. *Journal of Neurology, Neurosurgery & Psychiatry*, 23(1), 56–62. doi: 10.1136/jnnp.23.1.56
- Hayes, S. C., Strosahl, K., Wilson, K. G., Bissett, R. T., Pistorello, J., Toarmino, D., ... McCurry, S. M. (2004). Measuring experiential avoidance: A preliminary test of a working

- model. *The Psychological Record*, 54(4), 553–578. doi: 10.1007/BF03395492
- Haynes, P. L., Gengler, D., & Kelly, M. (2016). Social Rhythm Therapies for Mood Disorders: An Update. *Current Psychiatry Reports*, 18(8), 75. doi: 10.1007/s11920-016-0712-3
- Hlastala, S. A., Kotler, J. S., McClellan, J. M., & McCauley, E. A. (2010). Interpersonal and social rhythm therapy for adolescents with bipolar disorder: Treatment development and results from an open trial. *Depression and Anxiety*, 27(5), 457–464. doi: 10.1002/da.20668
- Kahawage, P., Bullock, B., Meyer, D., Gottlieb, J., Crowe, M., Swartz, H. A., ... Murray, G. (2022). Social Rhythm Disruption is Associated with Greater Depressive Symptoms in People with Mood Disorders: Findings from a Multinational Online Survey During COVID-19. *The Canadian Journal of Psychiatry*, 070674372210979. doi: 10.1177/07067437221097905
- Kheirabadi, G. R., Maracy, M. R., Akbaripour, S., & Masaeli, N. (2012). Psychometric properties and diagnostic accuracy of the edinburgh postnatal depression scale in a sample of Iranian women. *Iranian Journal of Medical Sciences*, 37(1), 32–38.
- Lam, C., & Chung, M.-H. (2021). A Meta-Analysis of the Effect of Interpersonal and Social Rhythm Therapy on Symptom and Functioning Improvement in Patients with Bipolar Disorders. *Applied Research in Quality of Life*, 16(1), 153–165. doi: 10.1007/s11482-019-09740-1
- Lee, S. A., Choi, E. J., Jeon, J. Y., Han, S. H., Kim, H. W., Lee, G. H., ... Yang, H. (2022). Aggression is more strongly associated with suicidality, independent of depression, than emotional instability and impulsivity in people with epilepsy.

- Epilepsy & Behavior*, 129, 108613. doi: 10.1016/j.yebeh.2022.108613
- Lieverse, R., De Vries, R., Hoogendoorn, A. W., Smit, J. H., & Hoogendijk, W. J. G. (2013). Social Support and Social Rhythm Regularity in Elderly Patients with Major Depressive Disorder. *The American Journal of Geriatric Psychiatry*, 21(11), 1144–1153. doi: 10.1016/j.jagp.2013.01.052
- Mazaheri, M. (2015). Psychometric Properties of the Persian Version of the Difficulties in Emotion Regulation Scale) DERS-6 & DERS-5- Revised (in an Iranian Clinical Sample. *Iranian Journal of Psychiatry*, 10(2), 115–122.
- Mohammadyfar, M. A., Azizpour, M., Najafi, M., & Nooripour, R. (2018). Comparison of audio-visual short-term and active memory in multiple sclerosis patients and non-patients regarding their depression, stress and anxiety level. *Nordic Psychology*, 70(2), 115–128. doi: 10.1080/19012276.2017.1362989
- Nooripour, R., Afrooz, G., Rahmani, S., Hosseinian, S., Tavalaei, S., & Alikhani, M. (2016). Effectiveness of Psychodrama on Aggression of Female Addicts with Bipolar Personality. *Journal of Addiction & Prevention*, 4(1), 204–209.
- Parker, D. A., Trotti, R. L., McDowell, J. E., Keedy, S. K., Hill, S. K., Gershon, E. S., ... Clementz, B. A. (2021). Auditory Oddball Responses Across the Schizophrenia-Bipolar Spectrum and Their Relationship to Cognitive and Clinical Features. *American Journal of Psychiatry*, 178(10), 952–964. doi: 10.1176/appi.ajp.2021.20071043
- Rantala, M. J., Luoto, S., Borráz-León, J. I., & Krams, I. (2021). Bipolar disorder: An evolutionary psychoneuroimmunological approach. *Neuroscience &*

- Biobehavioral Reviews*, 122, 28–37. doi: 10.1016/j.neubiorev.2020.12.031
- Richter, G. M., Wunsch, C., Schneider, B., Dux, M., Klar, E., Seelos, R., & Kauffmann, G. W. (1998). Hydro-CT in the detection and staging of pancreatic carcinoma. *Der Radiologe*, 38(4), 279–286. doi: 10.1007/s001170050355
- Sankar, A., Panchal, P., Goldman, D. A., Colic, L., Villa, L. M., Kim, J. A., ... Blumberg, H. P. (2021). Telehealth Social Rhythm Therapy to Reduce Mood Symptoms and Suicide Risk Among Adolescents and Young Adults With Bipolar Disorder. *American Journal of Psychotherapy*, 74(4), 172–177. doi: 10.1176/appi.psychotherapy.20210011
- Spector, P. E., Fox, S., Penney, L. M., Bruursema, K., Goh, A., & Kessler, S. (2006). The dimensionality of counterproductivity: Are all counterproductive behaviors created equal? *Journal of Vocational Behavior*, 68(3), 446–460. doi: 10.1016/j.jvb.2005.10.005
- Swartz, H. A., Frank, E., O'Toole, K., Newman, N., Kiderman, H., Carlson, S., ... Ghinassi, F. (2011). Implementing Interpersonal and Social Rhythm Therapy for Mood Disorders Across a Continuum of Care. *Psychiatric Services*, 62(11), 1377–1380. doi: 10.1176/ps.62.11.pss6211_1377
- Timmerby, N., Andersen, J. H., Søndergaard, S., Østergaard, S. D., & Bech, P. (2017). A Systematic Review of the Clinimetric Properties of the 6-Item Version of the Hamilton Depression Rating Scale (HAM-D). *Psychotherapy and Psychosomatics*, 86(3), 141–149. doi: 10.1159/000457131
- Walker, M. P., & van der Helm, E. (2009). Overnight therapy? The role of sleep in emotional brain processing. *Psychological Bulletin*, 135(5), 731–748. doi: 10.1037/a0016570

- Xiong, J., Lipsitz, O., Chen-Li, D., Rosenblat, J. D., Rodrigues, N. B., Carvalho, I., ... McIntyre, R. S. (2021). The acute antisuicidal effects of single-dose intravenous ketamine and intranasal esketamine in individuals with major depression and bipolar disorders: A systematic review and meta-analysis. *Journal of Psychiatric Research*, 134, 57–68. doi: 10.1016/j.jpsychires.2020.12.038
- Zacks, J. M., Speer, N. K., Swallow, K. M., Braver, T. S., & Reynolds, J. R. (2007). Event perception: A mind-brain perspective. *Psychological Bulletin*, 133(2), 273–293. doi: 10.1037/0033-2909.133.2.273